

# Weston ATA Payoff Sheet

6/17/22

\$816.51

(All Ties Divide Unless Otherwise Noted)

Event #1 --- 16 Yard Lewis Purse --- pays Remington System (4 Places) (Ties Divide)

		11	Playing @	\$10.00	Each =	\$110.00	2	Places
<u>1</u>	<u>98</u>	's Paying	\$55.00	<u>1</u>	<u>93</u>	's Paying	\$55.00	
<u>0</u>	<u>0</u>	's Paying	#DIV/0!					-

Event #2 --- Handicap Lewis Purse --- Pays Remington System (4 Places) (Ties Divide)

_			14	Playing @	\$10.00	Each =	\$140.00	2	Places
	<u>1</u>	<u>94</u>	's Paying	\$70.00	<u>2</u>	<u>88</u>	's Paying	\$35.00	
	<u>0</u>	<u>0</u>	's Paying	#DIV/0!					-

Event #3 --- Doubles Lewis Purse --- pays Remington System (3 Places) (Ties Divide)

_			11	Playing @	\$10.00	Each =	\$110.00	2	Places
	<u>2</u>	<u>0</u>	95	\$27.50	<u>1</u>	<u>0</u>	94	\$55.00	
	<u>0</u>	<u>0</u>	's Paying	#DIV/0!			-		

Event #3 --- Yardage Group Hi Gun

#### Yardage 19-21.5 0 Playing @ \$10.00 Each = \$0.00 in 19-21.5 Group #DIV/0! 's Paying #DIV/0! 0 's Paying 0 0 0 in 22-24.5 Group 22-23.5 0 Playing @ \$10.00 Each = \$0.00 #DIV/0! 's Paying #DIV/0! 's Paying 0 0 0 0 24-25.5 0 \$0.00 in 25-275 Group Playing @ \$10.00 Each = 's Paying #DIV/0! 's Paying #DIV/0! <u>0</u> Ο Ο 26-27 0 Playing @ Each = \$0.00 \$10.00 in 25-275 Group 's Paying #DIV/0! 's Paying #DIV/0! 0 0 0 0

Event #3 --- Perpetual 50 Straight Option (Schael) - First 50 Targets - 75% Payout (Ties Divic

Started @	<u>a</u> j	\$806.51	10	Played (	@ \$1 Ea =	\$816.51
Purse Af	ter Daily E	ntries	\$816.51	75%	of Purse =	\$612.38
<u>0</u>	<u>0</u>	's Paying	#DIV/0!	Each	Balance in	Purse =

Event #3 --- Perpetual Mid 50 Option (Mid 50) - MId 50 Targets - 75% Payout (Ties Divide)

9	Started @	D	\$2,230.86	6	Played	@ \$5 Ea =	\$2,260.86	
F	Purse Aft	ter Daily E	ntries	\$2,260.86	75%	of Purse =	\$1,695.65	
	<u>0</u>	<u>50</u>	's Paying	#DIV/0!	Each	Balance in	Purse =	\$2,260.86



### Weston ATA Payoff Sheet

6/18/22

(All Ties Divide Unless Otherwise Noted)

Event #4 --- 16 Yard Championship Lewis Purse --- pays Remington System (4 Places) (Ties Divide)

_			28	Playing @	\$10.00	Each =	\$280.00	3	Places
	<u>2</u>	<u>198</u>	's Paying	\$46.50	<u>2</u>	<u>191</u>	's Paying	\$46.50	
ſ	<u>3</u>	<u>187</u>	's Paying	\$30.94	<u>0</u>	<u>89</u>	's Paying	#DIV/0!	

Event #4

Class Purse 60%/40% Hi Gun (Ties Divide)

	1					
		1	Playing @	\$20.00	Each	\$20.00
AA	<u>1</u>	<u>198</u>	's Paying	100%	=	\$20.00
	<u>0</u>	<u>0</u>	's Paying	40%	=	#####
		4	Playing @	\$20.00	Each	\$80.00
Α	<u>1</u>	<u>193</u>	's Paying	60%	=	\$48.00
	<u>1</u>	<u>191</u>	's Paying	40%	=	\$32.00
		4	Playing @	\$20.00	Each	\$80.00
В	<u>1</u>	<u>197</u>	's Paying	60%	=	\$48.00
	<u>1</u>	<u>191</u>	's Paying	40%	=	\$32.00
		0	Playing @	\$20.00	Each	\$0.00
С	<u>0</u>	<u>0</u>	's Paying	60%	=	#####
	<u>0</u>	<u>0</u>	's Paying	40%	=	#####
		1	Playing @	\$20.00	Each	\$20.00
D	<u>1</u>	<u>159</u>	's Paying	100%	=	\$20.00
	<u>0</u>	<u>0</u>	's Paying	0%	=	#####

Event #5 --- Doubles Championship Lewis Purse --- pays Remington System (3 Places) (Ties Divide)

Event #3 --- Doubles Lewis Purse --- pays Remington System (3 Places) (Ties Divide)

		23	Playing @	\$10.00	Each =	\$230.00	3	Places
<u>1</u>	<u>99</u>	's Paying	\$76.67	<u>2</u>	<u>93</u>	's Paying	\$38.25	
<u>2</u>	<u>85</u>	's Paying	\$38.25	<u>0</u>	<u>0</u>	's Paying	#DIV/0!	

#### Event #5 - Doubles Championship Class Purse 60%/40% Hi Gun (Ties Divide)

		1	Playing @	\$10.00	Each	\$10.00
AA	<u>1</u>	<u>99</u>	's Paying	100%	=	\$10.00
		<u>0</u>	's Paying	40%	=	
		5	Playing @	\$10.00	Each	\$50.00
Α	<u>2</u>	<u>96</u>	's Paying	60%	=	\$15.00
	<u>1</u>	<u>95</u>	's Paying	40%	=	\$20.00
		3	Playing @	\$10.00	Each	\$30.00
В	<u>1</u>	<u>94</u>	's Paying	60%	=	\$18.00
	<u>1</u>	<u>90</u>	's Paying	40%	=	\$12.00
			Playing @	\$10.00	Each	\$0.00

С	<u>0</u>			100%	=	#####
	<u>0</u>	<u>0</u>	's Paying	40%	=	
		0	Playing @	\$10.00	Each	\$0.00
D	<u>0</u>	<u>0</u>		100%	=	#####
	<u>0</u>	<u>0</u>	's Paying	0%	=	



## Weston ATA Payoff Sheet

(All Ties Divide Unless Otherwise Noted)

Event #6 --- 16 Yard - Lewis Purse --- pays Remington System (3 Places) (Ties Divide)

_			26	Playing @	\$10.00	Each =	\$260.00	3	Places
	<u>1</u>	<u>100</u>	's Paying	\$86.50	<u>3</u>	<u>94</u>	's Paying	\$29.00	
	<u>4</u>	<u>92</u>	's Paying	\$21.50	<u>0</u>	<u>0</u>	's Paying	#DIV/0!	

Event #6 & #7

Combo Purse, Total Targets Combined - 16 yd & Handicap (Ties Divide)

	14 Playing @	\$10.00	Each =	\$140.00
<u>2</u>	<u>192</u> 's Paying	50%	=	\$35.00
<u>1</u>	<u>186</u> 's Paying	30%	=	\$42.00
<u>1</u>	<u>185</u> 's Paying	20%	=	\$28.00

Event #7 --- Handicap Championship - Lewis Purse --- Pays Remington System (4 Places) (Ties Divide)

		29	Playing @	\$10.00	Each =	\$290.00	3 Places
<u>0</u>	<u>0</u>	's Paying	#DIV/0!	<u>0</u>	<u>0</u>	's Paying	#DIV/0!
<u>0</u>	<u>0</u>	's Paying	#DIV/0!	<u>0</u>	<u>0</u>	's Paying	#DIV/0!

Yardage								
19-21.5 <mark>3</mark>	Playing @	\$10.00	Each =	\$30.00	in 19-21.	.5 Group		
	<u>1</u>	<u>92</u>	's Paying	\$18.00	<u>1</u>	<u>88</u>	's Paying	\$12.00
22-23.5 <mark>2</mark>	Playing @	\$10.00	Each =	\$20.00	in 22-24.	.5 Group		
	<u>1</u>	<u>90</u>	's Paying	\$12.00	<u>2</u>	<u>78</u>	's Paying	\$4.00
24-25.5 <mark>3</mark>	Playing @	\$10.00	Each =	\$30.00	in 25-27	5 Group		
	<u>1</u>	<u>87</u>	's Paying	\$30.00	<u>2</u>	<u>85</u>	's Paying	\$6.00
26-27 <mark>8</mark>	Playing @	\$10.00	Each =	\$80.00	in 25-27	5 Group		
	<u>1</u>	<u>93</u>	's Paying	\$80.00	<u>1</u>	<u>92</u>	's Paying	\$32.00

Event #7 --- Yardage Group 60/40

Event #3 --- Perpetual 50 Straight Option (Schael) - First 50 Targets - 75% Payout (Ties Divid<br/>Started @ \$816.51Started @ \$816.5123Played @ \$1 Ea = \$839.51Purse After Daily Entries\$839.5175% of Purse = \$629.63QQ's Paying#DIV/0!EachBalance in Purse = \$839.51

Event #7 --- Perpetual Mid 50 Option (Mid 50) - MId 50 Targets - 75% Payout (Ties Divide)

Started @	<u>a</u>	\$2,260.86	21	Played @	@ \$5 Ea =	\$2,365.86	
Purse Af	ter Daily Ei	ntries	\$2,365.86	75%	of Purse	= \$1,774.40	
<u>0</u>	<u>50</u>	's Paying	#DIV/0!	Each	Balance	in Purse =	\$2,365.86